

Summary of Bids Received

Project: HMA Patching 2019
Section: 19-00000-13-GM
Description: Partial Depth Patching

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
J. A. Johnson Paving Company	1025 E. Addison Court	Arlington Heights, IL 60005	Bid Bond	\$536,908.85	-14.86%	-\$93,716.50
Chicagoland Paving,Inc.	225 Telser Road	Lake Zurich, IL 60047	Bid Bond	\$560,000.00	-11.20%	-\$70,625.35
Schroeder Asphalt Service, Inc.	P.O. Box 831	Huntley, IL 60142	Bid Bond	\$634,182.35	0.56%	\$3,557.00
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL 60044	Bid Bond	\$682,597.00	8.24%	\$51,971.65
Engineer's Estimate				\$630,625.35		
Design	IDOT(2)	Contract Bidder		SES then Plan Rad	ck	
Finance	Bid Tab File	Resident Eng.		Administrative Ass	istant	
Construction	Project File	Request By Mail		/lgr Capital Progra	mming	



Return Bid Tabulation

Project: HMA Patching 2019
Section: 19-00000-13-GM
Description: Partial Depth Patching
CPMS Pin: B-01200

Let Date: 3/12/2019

Itom	tem Schroeder Asphalt Service.													
No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Chicagoland	Paving.Inc.	J. A. Johnson Pa	aving Company	Inc.		Peter Baker & Son Company	
	Unit Price Extnd. Price Un		Unit Price	Unit Price Extnd. Price		Unit Price Extnd. Price		Unit Price Extnd. Price		Extnd. Price				
1	20200100	EARTH EXCAVATION	2.0	CU YD	\$100.00	\$200.00	\$200.00	\$400.00	\$200.00	\$400.00	\$100.00	\$200.00	\$450.00	\$900.00
2	20800150	TRENCH BACKFILL	17.0	CU YD	\$40.00	\$680.00	\$43.25	\$735.25	\$40.00	\$680.00	\$42.00	\$714.00	\$1.00	\$17.00
3	28000305	TEMPORARY DITCH CHECKS	14.0	FOOT	\$50.00	\$700.00	\$15.00	\$210.00	\$10.00	\$140.00	\$55.00	\$770.00	\$15.00	\$210.00
4	35101400	AGGREGATE BASE COURSE, TYPE B	336.0	TON	\$30.00	\$10,080.00	\$25.00	\$8,400.00	\$50.00	\$16,800.00	\$24.50	\$8,232.00	\$18.85	\$6,333.60
5	44000100	PAVEMENT REMOVAL	57.0	SQ YD	\$50.00	\$2,850.00	\$25.00	\$1,425.00	\$16.00	\$912.00	\$15.00	\$855.00	\$63.00	\$3,591.00
6	40600290	BITUMINOUS MATERIALS (TACK COAT)	8,735.0	POUND	\$0.01	\$87.35	\$0.01	\$87.35	\$0.01	\$87.35	\$0.01	\$87.35	\$0.01	\$87.35
7		LEVELING BINDER (MACHINE METHOD), N50	26.0	TON	\$90.00	\$2,340.00	\$100.00	\$2,600.00	\$160.00	\$4,160.00	\$130.00	\$3,380.00	\$217.00	\$5,642.00
8		HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	135.0	SQ YD	\$20.00	\$2,700.00	\$10.00	\$1,350.00	\$5.50	\$742.50	\$8.00	\$1,080.00	\$37.95	\$5,123.25
9		HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	108.0	TON	\$100.00	\$10,800.00	\$100.00	\$10,800.00	\$104.00	\$11,232.00	\$85.00	\$9,180.00	\$207.00	\$22,356.00
10		HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	951.0	TON	\$110.00	\$104,610.00	\$100.00	\$95,100.00	\$87.00	\$82,737.00	\$145.00	\$137,895.00	\$102.00	\$97,002.00
11	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	2,032.0	TON	\$120.00	\$243,840.00	\$138.00	\$280,416.00	\$94.00	\$191,008.00	\$115.00	\$233,680.00	\$115.75	\$235,204.00
12	44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	19,358.0	SQ YD	\$6.00	\$116,148.00	\$3.00	\$58,074.00	\$5.50	\$106,469.00	\$6.00	\$116,148.00	\$9.50	\$183,901.00
13	48101200	AGGREGATE SHOULDERS, TYPE B	10.0	TON	\$50.00	\$500.00	\$50.00	\$500.00	\$54.00	\$540.00	\$30.00	\$300.00	\$185.00	\$1,850.00
14	48203007	HOT-MIX ASPHALT SHOULDERS, 2 1/2"	20.0	SQ YD	\$100.00	\$2,000.00	\$50.00	\$1,000.00	\$38.00	\$760.00	\$42.75	\$855.00	\$68.00	\$1,360.00
15	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	29.0	SQ YD	\$100.00	\$2,900.00	\$75.00	\$2,175.00	\$54.00	\$1,566.00	\$69.00	\$2,001.00	\$90.00	\$2,610.00
16	50105220	PIPE CULVERT REMOVAL	58.0	FOOT	\$30.00	\$1,740.00	\$21.60	\$1,252.80	\$20.00	\$1,160.00	\$15.00	\$870.00	\$15.00	\$870.00
17	542A0217	PIPE CULVERTS, CLASS A, TYPE 1 12"	75.0	FOOT	\$100.00	\$7,500.00	\$97.25	\$7,293.75	\$90.00	\$6,750.00	\$80.00	\$6,000.00	\$148.00	\$11,100.00



Return Bid Tabulation

Project: HMA Patching 2019
Section: 19-00000-13-GM
Description: Partial Depth Patching
CPMS Pin: B-01200

Let Date: 3/12/2019

Item						Schroeder Asphalt Service			e, Peter Baker & Son Company					
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Chicagoland Paving,Inc. Unit Price Extnd. Price		J. A. Johnson Paving Company Unit Price Extnd. Price		Inc. Unit Price Extnd. Price		Unit Price	Extnd. Price
					Office Fried	Extilu. 1 1100	OTHER FIGE	Extra. 1 1100	Ome i ricc	Extilu. I fice	Office	Extra. 1 11cc	Office	Extilu. I fice
18		PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	2.0	EACH	\$1,800.00	\$3,600.00	\$2,700.00	\$5,400.00	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00	\$355.00	\$710.00
19	63301210	REMOVE AND REERECT STEEL PLATE BEAM GUARDRAIL, TYPE A	27.0	FOOT	\$100.00	\$2,700.00	\$111.00	\$2,997.00	\$100.00	\$2,700.00	\$107.00	\$2,889.00	\$63.50	\$1,714.50
20	63302000	REMOVE AND REERECT TRAFFIC BARRIER TERMINALS, TYPE 2	1.0	EACH	\$5,000.00	\$5,000.00	\$3,115.00	\$3,115.00	\$2,800.00	\$2,800.00	\$3,090.00	\$3,090.00	\$1,650.00	\$1,650.00
21	70300904	PAVEMENT MARKING TAPE, TYPE IV 4	3,000.0	FOOT	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$0.01	\$30.00	\$1.00	\$3,000.00	\$0.01	\$30.00
22	88600100	DETECTOR LOOP, TYPE I	250.0	FOOT	\$25.00	\$6,250.00	\$25.00	\$6,250.00	\$36.00	\$9,000.00	\$18.00	\$4,500.00	\$17.00	\$4,250.00
23	1 ("200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	8,680.0	UNIT	\$1.00	\$8,680.00	\$1.00	\$8,680.00	\$1.00	\$8,680.00	\$1.00	\$8,680.00	\$1.00	\$8,680.00
24	X0327036	BIKE PATH REMOVAL	4,260.0	SQ YD	\$10.00	\$42,600.00	\$4.50	\$19,170.00	\$8.00	\$34,080.00	\$14.00	\$59,640.00	\$12.20	\$51,972.00
25	X4240800	DETECTABLE WARNINGS (SPECIAL)	24.0	SQ FT	\$100.00	\$2,400.00	\$25.00	\$600.00	\$100.00	\$2,400.00	\$60.00	\$1,440.00	\$45.00	\$1,080.00
26	X / (1111) / 1h	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$20,000.00	\$20,000.00	\$30,447.85	\$30,447.85	\$39,200.00	\$39,200.00	\$10,000.00	\$10,000.00	\$29,431.30	\$29,431.30
27	XX006343	SEEDING (COMPLETE)	1,010.0	SQ YD	\$20.00	\$20,200.00	\$6.50	\$6,565.00	\$6.00	\$6,060.00	\$11.00	\$11,110.00	\$1.00	\$1,010.00
28		PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	326.0	FOOT	\$20.00	\$6,520.00	\$6.00	\$1,956.00	\$2.50	\$815.00	\$11.00	\$3,586.00	\$12.00	\$3,912.00
Bid Total						\$630,625.35		\$560,000.00		\$536,908.85		\$634,182.35		\$682,597.00



Return Bid Details

Project: HMA Patching 2019
Section: 19-00000-13-GM
Description: Partial Depth Patching

14					Eng Es	stimate	Min Did	Mara Dist	A Did
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	2.0	CU YD	\$100.00	\$200.00	\$100.00	\$450.00	\$237.50
2	20800150	TRENCH BACKFILL	17.0	CU YD	\$40.00	\$680.00	\$1.00	\$43.25	\$31.56
3	28000305	TEMPORARY DITCH CHECKS	14.0	FOOT	\$50.00	\$700.00	\$10.00	\$55.00	\$23.75
4	35101400	AGGREGATE BASE COURSE, TYPE B	336.0	TON	\$30.00	\$10,080.00	\$18.85	\$50.00	\$29.59
5	44000100	PAVEMENT REMOVAL	57.0	SQ YD	\$50.00	\$2,850.00	\$15.00	\$63.00	\$29.75
6	40600290	BITUMINOUS MATERIALS (TACK COAT)	8,735.0	POUND	\$0.01	\$87.35	\$0.01	\$0.01	\$0.01
7	40600625	LEVELING BINDER (MACHINE METHOD), N50	26.0	TON	\$90.00	\$2,340.00	\$100.00	\$217.00	\$151.75
8	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	135.0	SQ YD	\$20.00	\$2,700.00	\$5.50	\$37.95	\$15.36
9	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	108.0	TON	\$100.00	\$10,800.00	\$85.00	\$207.00	\$124.00
10	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	951.0	TON	\$110.00	\$104,610.00	\$87.00	\$145.00	\$108.50
11	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	2,032.0	TON	\$120.00	\$243,840.00	\$94.00	\$138.00	\$115.69



Return Bid Details

Project: HMA Patching 2019 Section: 19-00000-13-GM Description: Partial Depth Patching

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
12	44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	19,358.0	SQ YD	\$6.00	\$116,148.00	\$3.00	\$9.50	\$6.00
13	48101200	AGGREGATE SHOULDERS, TYPE B	10.0	TON	\$50.00	\$500.00	\$30.00	\$185.00	\$79.75
14	48203007	HOT-MIX ASPHALT SHOULDERS, 2 1/2"	20.0	SQ YD	\$100.00	\$2,000.00	\$38.00	\$68.00	\$49.69
15	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	29.0	SQ YD	\$100.00	\$2,900.00	\$54.00	\$90.00	\$72.00
16	50105220	PIPE CULVERT REMOVAL	58.0	FOOT	\$30.00	\$1,740.00	\$15.00	\$21.60	\$17.90
17	542A0217	PIPE CULVERTS, CLASS A, TYPE 1 12"	75.0	FOOT	\$100.00	\$7,500.00	\$80.00	\$148.00	\$103.81
18	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	2.0	EACH	\$1,800.00	\$3,600.00	\$355.00	\$2,700.00	\$1,888.75
19	63301210	REMOVE AND REERECT STEEL PLATE BEAM GUARDRAIL, TYPE A	27.0	FOOT	\$100.00	\$2,700.00	\$63.50	\$111.00	\$95.38
20	63302000	REMOVE AND REERECT TRAFFIC BARRIER TERMINALS, TYPE 2	1.0	EACH	\$5,000.00	\$5,000.00	\$1,650.00	\$3,115.00	\$2,663.75
21	70300904	PAVEMENT MARKING TAPE, TYPE IV 4	3,000.0	FOOT	\$1.00	\$3,000.00	\$0.01	\$1.00	\$0.51
22	88600100	DETECTOR LOOP, TYPE I	250.0	FOOT	\$25.00	\$6,250.00	\$17.00	\$36.00	\$24.00



Return Bid Details

Project: HMA Patching 2019
Section: 19-00000-13-GM
Description: Partial Depth Patching

Item	2				Eng Es	Eng Estimate		Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Price	Price
23	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	8,680.0	UNIT	\$1.00	\$8,680.00	\$1.00	\$1.00	\$1.00
24	X0327036	BIKE PATH REMOVAL	4,260.0	SQ YD	\$10.00	\$42,600.00	\$4.50	\$14.00	\$9.68
25	X4240800	DETECTABLE WARNINGS (SPECIAL)	24.0	SQ FT	\$100.00	\$2,400.00	\$25.00	\$100.00	\$57.50
26	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$20,000.00	\$20,000.00	\$10,000.00	\$39,200.00	\$27,269.79
27	XX006343	SEEDING (COMPLETE)	1,010.0	SQ YD	\$20.00	\$20,200.00	\$1.00	\$11.00	\$6.13
28	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	326.0	FOOT	\$20.00	\$6,520.00	\$2.50	\$12.00	\$7.88
		Bid Total				\$630,625.35			